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	Reason for change:
	The current specification text in TS 38.211 on the channel inference assumption for PUSCH is not applicable to PUSCH repetition Type B.

	
	

	Summary of change:
	The channel inference assumption for PUSCH repetition Type B is captured in TS 38.211.

	
	

	Consequences if not approved:
	It may result in unclear behavior on what channel inference assumption the UE shall make for PUSCH repetition Type B.
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	Other comments:
	Isolated impact analysis:
This CR has isolated impact on the channel inference assumption for PUSCH repetition Type B.
If the gNB implements the CR but the UE does not, the UE may have incorrect/unknown behavior.
If the UE implements the CR but the gNB does not, the gNB may not understand the UE behavior.
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The frame structure and physical resources the UE shall use when transmitting in the uplink transmissions are defined in Clause 4.
The following antenna ports are defined for the uplink:
-	Antenna ports starting with 0 for demodulation reference signals for PUSCH
-	Antenna ports starting with 1000 for SRS, PUSCH
-	Antenna ports starting with 2000 for PUCCH
-	Antenna port 4000 for PRACH 
If PUSCH repetition Type B as described in clause 6.1 of [6, TS38.214] is applied to a physical channel, the UE transmission shall be such that the channel over which a symbol on the antenna port used for uplink transmission is conveyed can be inferred from the channel over which another symbol on the same antenna port is conveyed if the two symbols correspond to the same actual repetition of a PUSCH transmission with repetition Type B.
If intra-slot frequency hopping is not enabled by higher layer parameter for a physical channel and PUSCH repetition Type B is not applied to the physical channel, the UE transmission shall be such that the channel over which a symbol on the antenna port used for uplink transmission is conveyed can be inferred from the channel over which another symbol on the same antenna port is conveyed if the two symbols correspond to the same slot.
If intra-slot frequency hopping is enabled by higher layer parameter for a physical channel, the UE transmission shall be such that the channel over which a symbol on the antenna port used for uplink transmission is conveyed can be inferred from the channel over which another symbol on the same antenna port is conveyed only if the two symbols correspond to the same frequency hop, regardless of whether the frequency hop distance is zero or not.

